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1 strong=”349|������� b” x-morph=”OSHM:HTi” x-cantillationLevel=”1.1.1.0”
� ”strong=”3427|��������� x-morph=”OSHM:HVqp3fs” ”strong=”910|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.1” strong=”d/5892|�����/��

b” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1.0” strong=”7227|���������
a” x-morph=”OSHM:HAafsc” strong=”5971|���� a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” ”strong=”1961|�������� x-morph=”OSHM:HVqp3fs”
x-cantillationLevel=”1.0” ”strong=”k/490|����������/��� x-morph=”OSHM:HR/Ncfsa”
x-cantillationLevel=”1” strong=”7227|���������� a” x-morph=”OSHM:HAafsc”
1 Marks a place where we agree with BHQ against BHS in reading L. 2 3
strong=”b/1471|��������/�� a” x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”0.1.1”
”strong=”8282|���������� x-morph=”OSHM:HNcfsc” x-cantillationLevel=”0.1.0”
”strong=”b/4082|�����������/��� x-morph=”OSHM:HRd/Ncfpa” x-cantillationLevel=”0.1”
”strong=”1961|�������� x-morph=”OSHM:HVqp3fs” x-cantillationLevel=”0.0”
”strong=”l/4522|����/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0”�
� 2 ”strong=”1058|������� x-morph=”OSHM:HVqa” ”strong=”1058|���������
x-morph=”OSHM:HVqi3fs” x-cantillationLevel=”1.1.1.0” ”strong=”b/3915|���������/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.1.1” ”strong=”c/1832|���/��������/��
x-morph=”OSHM:HC/Ncfsc/Sp3fs” x-cantillationLevel=”1.1.0” strong=”5921|����
a” x-morph=”OSHM:HR” ”strong=”3895|��/�������� x-morph=”OSHM:HNcbsc/Sp3fs”
x-cantillationLevel=”1.1” ”strong=”369|����� x-morph=”OSHM:HTn”��/����|strong=”l”
x-morph=”OSHM:HR/Sp3fs” ”strong=”5162|�������� x-morph=”OSHM:HVprmsa”
x-cantillationLevel=”1.0” ”strong=”m/3605|����/�� x-morph=”OSHM:HR/Ncmsc”��/���������|strong=”157”
x-morph=”OSHM:HVqrmpc/Sp3fs” x-cantillationLevel=”1” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”���/�������|strong=”7453” x-morph=”OSHM:HNcmpc/Sp3fs”
x-cantillationLevel=”0.1.0” ”strong=”898|��������� x-morph=”OSHM:HVqp3cp”
”strong=”b|��/��� x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0.1”
”strong=”1961|������ x-morph=”OSHM:HVqp3cp” ”strong=”l|��/��� x-
morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0.0” ”strong=”l/341|���������/��
x-morph=”OSHM:HR/Vqrmpa” x-cantillationLevel=”0”� � 3 ”strong=”1540|����������
x-morph=”OSHM:HVqp3fs” ”strong=”3063|��������� x-morph=”OSHM:HNp”
”strong=”m/6040|�������/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.2.0”
”strong=”c/m/7230|����/��/�� x-morph=”OSHM:HC/R/Ncbsc” ”strong=”5656|��������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.2” ”strong=”1931|�����
x-morph=”OSHM:HPp3fs” x-cantillationLevel=”1.1.0” ”strong=”3427|���������
x-morph=”OSHM:HVqp3fs” strong=”b/1471|��������/�� a” x-morph=”OSHM:HRd/Ncmpa”
x-cantillationLevel=”1.1” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”4672|��������
x-morph=”OSHM:HVqp3fs” x-cantillationLevel=”1.0” ”strong=”4494|��������
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1” ”strong=”3605|���� x-
morph=”OSHM:HNcmsc”��/���������|strong=”7291” x-morph=”OSHM:HVqrmpc/Sp3fs”
”strong=”5381|��/����������� x-morph=”OSHM:HVhp3cp/Sp3fs” x-cantillationLevel=”0.0”
”strong=”996|������ x-morph=”OSHM:HR” ”strong=”d/4712|����������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0”� � 4 ”strong=”1870|���������

1Q
2n Marks an anomalous form.
3p We read punctuation in L differently from BHS.
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x-morph=”OSHM:HNcbpc” ”strong=”6726|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.1.0” ”strong=”57|��������� x-morph=”OSHM:HAafpa”
x-cantillationLevel=”1.2.1” ”strong=”m/1097|�������/�� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”1.2.0” ”strong=”935|������� x-morph=”OSHM:HVqrmpc”
”strong=”4150|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.2”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”���/����������|strong=”8179”
x-morph=”OSHM:HNcmpc/Sp3fs” x-cantillationLevel=”1.1.0” ”strong=”8074|������������
x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”1.1” ”strong=”3548|��/���������
x-morph=”OSHM:HNcmpc/Sp3fs” x-cantillationLevel=”1.0” ”strong=”584|�����������
x-morph=”OSHM:HVNsmpa” x-cantillationLevel=”1” ”strong=”1330|��/������������
x-morph=”OSHM:HNcfpc/Sp3fs” ”strong=”3013|��������� x-morph=”OSHM:HVNsfpa”
x-cantillationLevel=”0.0” 4 Marks a place where we agree with BHQ against
BHS in reading L. 5 ”strong=”c/1931|�����/�� x-morph=”OSHM:HC/Pp3fs”
”strong=”4751|��� x-morph=”OSHM:HVqp3ms”��/����|strong=”l” x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0”� � 5 ”strong=”1961|������ x-morph=”OSHM:HVqp3cp”
strong=”6862|��/������ c” x-morph=”OSHM:HNcmpc/Sp3fs” strong=”l/7218|������/��
a” x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.1.0” ”strong=”341|��/��������
x-morph=”OSHM:HVqrmpc/Sp3fs” ”strong=”7951|������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1.1” strong=”3588|����� a” x-morph=”OSHM:HC”��������|strong=”3068”
x-morph=”OSHM:HNp” ”strong=”3013|��/������ x-morph=”OSHM:HVhp3ms/Sp3fs”
x-cantillationLevel=”1.0” strong=”5921|���� a” x-morph=”OSHM:HR” ”strong=”7230|���
x-morph=”OSHM:HNcbsc”��/�����������|strong=”6588” x-morph=”OSHM:HNcmpc/Sp3fs”
x-cantillationLevel=”1” ”strong=”5768|��/��������� x-morph=”OSHM:HNcmpc/Sp3fs”
x-cantillationLevel=”0.0.0” ”strong=”1980|�������� x-morph=”OSHM:HVqp3cp”
strong=”7628|������� a” x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.0”
”strong=”l/6440|�����/�� x-morph=”OSHM:HR/Ncbpc”�����|strong=”6862
c” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� � 6 ”strong=”c/3318|�������/��
x-morph=”OSHM:HC/Vqw3ms” strong=”4480|�� a” x-morph=”OSHM:HR”
x-wType=”x-ketiv”���|strong=”1323” x-morph=”OSHM:HNcfsc” x-wType=”x-
ketiv” 6 ”strong=”6726|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”��/��������|strong=”1926”
x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”1” ”strong=”1961|������
x-morph=”OSHM:HVqp3cp” ”strong=”8269|��/������� x-morph=”OSHM:HNcmpc/Sp3fs”
x-cantillationLevel=”0.1.1” ”strong=”k/354|����������/��� x-morph=”OSHM:HR/Ncbpa”
x-cantillationLevel=”0.1.0” ”strong=”3808|��� x-morph=”OSHM:HTn”���������|strong=”4672”
x-morph=”OSHM:HVqp3cp” ”strong=”4829|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1” ”strong=”c/3212|���������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”b/3808|���/�� x-morph=”OSHM:HR/Tn”������|strong=”3581
b” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”l/6440|������/��
x-morph=”OSHM:HR/Ncbpc” ”strong=”7291|������� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”0”� � 7 ”strong=”2142|��������� x-morph=”OSHM:HVqp3fs”
”strong=”3389|������������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1”

4Q
5p We read punctuation in L differently from BHS.
6+ ”strong=”m/1323|����/������� x-morph=”OSHM:HR/Ncfsc”
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”strong=”3117|������ x-morph=”OSHM:HNcmpc” ”strong=”6040|���/������
x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”1.2.0” ”strong=”c/4788|��/���������/��
x-morph=”OSHM:HC/Ncmpc/Sp3fs” x-cantillationLevel=”1.2” ”strong=”3605|�����
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.1.0” ”strong=”4262|��/����������
x-morph=”OSHM:HNcmpc/Sp3fs” x-cantillationLevel=”1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”1961|������ x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1.0” ”strong=”m/3117|����/��� x-morph=”OSHM:HR/Ncmpc”
strong=”6924|������ a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
”strong=”b/5307|������/��� x-morph=”OSHM:HR/Vqc” strong=”5971|��/������
a” x-morph=”OSHM:HNcmsc/Sp3fs” ”strong=”b/3027|���/��� x-morph=”OSHM:HR/Ncbsc”�����|strong=”6862
c” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.2.1” ”strong=”c/369|�����/��
x-morph=”OSHM:HC/Tn” ”strong=”5826|������� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”0.2.0” ”strong=”l|��/��� x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0.2” ”strong=”7200|��/������ x-morph=”OSHM:HVqp3cp/Sp3fs”
strong=”6862|������� c” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.1”
”strong=”7832|��������� x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.0”
strong=”5921|���� a” x-morph=”OSHM:HR” ”strong=”4868|��/������������
x-morph=”OSHM:HNcmpc/Sp3fs” x-cantillationLevel=”0”� � 8 ”strong=”2399|������
x-morph=”OSHM:HNcmsa” ”strong=”2398|��������� x-morph=”OSHM:HVqp3fs”
x-cantillationLevel=”1.1.0” ”strong=”3389|�������������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” strong=”5921|��� a” x-morph=”OSHM:HR”������|strong=”3651
c” x-morph=”OSHM:HTm” x-cantillationLevel=”1.0” ”strong=”l/5206|�������/��
x-morph=”OSHM:HR/Ncfsa” ”strong=”1961|�������� x-morph=”OSHM:HVqp3fs”
x-cantillationLevel=”1” ”strong=”3605|����� x-morph=”OSHM:HNcmsc”��/������������|strong=”3513”
x-morph=”OSHM:HVprmpc/Sp3fs” ”strong=”2107|���/���������� x-morph=”OSHM:HVhp3cp/Sp3fs”
x-cantillationLevel=”0.1.0” strong=”3588|���� a” x-morph=”OSHM:HC”�������|strong=”7200”
x-morph=”OSHM:HVqp3cp” ”strong=”6172|��/��������� x-morph=”OSHM:HNcfsc/Sp3fs”
x-cantillationLevel=”0.1” ”strong=”1571|���� x-morph=”OSHM:HTa”������|strong=”1931”
x-morph=”OSHM:HPp3fs” ”strong=”584|���������� x-morph=”OSHM:HVNp3fs”
x-cantillationLevel=”0.0” ”strong=”c/7725|��������/�� x-morph=”OSHM:HC/Vqw3fs”
”strong=”268|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
� 9 ”strong=”2932|��/��������� x-morph=”OSHM:HNcfsc/Sp3fs” ”strong=”b/7757|��/��������/���
x-morph=”OSHM:HR/Ncmpc/Sp3fs” x-cantillationLevel=”1.2.1” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”2142|��������� x-morph=”OSHM:HVqp3fs”
x-cantillationLevel=”1.2.0” ”strong=”319|��/���������� x-morph=”OSHM:HNcfsc/Sp3fs”
x-cantillationLevel=”1.2” ”strong=”c/3381|�������/�� x-morph=”OSHM:HC/Vqw3fs”
”strong=”6382|���������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1”
”strong=”369|����� x-morph=”OSHM:HTn” ”strong=”5162|��������
x-morph=”OSHM:HVprmsa” x-cantillationLevel=”1.0” ”strong=”l|��/���
x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1” ”strong=”7200|������
x-morph=”OSHM:HVqv2ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�/��������|strong=”6040”
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”1431|���������� x-morph=”OSHM:HVhp3ms”
x-cantillationLevel=”0.0” ”strong=”341|������� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”0”� � 10 ”strong=”3027|���/��� x-morph=”OSHM:HNcbsc/Sp3ms”
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x-cantillationLevel=”1.1.0” ”strong=”6566|�������� x-morph=”OSHM:HVqp3ms”
strong=”6862|���� c” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1”
strong=”5921|���� a” x-morph=”OSHM:HR” x-cantillationLevel=”1.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”��/������������|strong=”4261” x-morph=”OSHM:HNcmpc/Sp3fs”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC”���������|strong=”7200”
x-morph=”OSHM:HVqp3fs” strong=”1471|������� a” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.2.0” ”strong=”935|������� x-morph=”OSHM:HVqp3cp”
”strong=”4720|��/����������� x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”0.2”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”6680|����������
x-morph=”OSHM:HVpp2ms” x-cantillationLevel=”0.1” ”strong=”3808|���
x-morph=”OSHM:HTn”���������|strong=”935” x-morph=”OSHM:HVqi3mp”
”strong=”b/6951|�������/�� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0.0”
”strong=”l|��/��� x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0”�
� 11 ”strong=”3605|���� x-morph=”OSHM:HNcmsc”��/�������|strong=”5971
a” x-morph=”OSHM:HNcmsc/Sp3fs” ”strong=”584|����������� x-morph=”OSHM:HVNsmpa”
x-cantillationLevel=”1.1.0” ”strong=”1245|������������� x-morph=”OSHM:HVprmpa”
”strong=”3899|������ x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.1”
”strong=”5414|�������� x-morph=”OSHM:HVqp3cp” ”strong=”4262|��/������
x-morph=”OSHM:HNcmpc/Sp3mp” x-wType=”x-ketiv” 7 8 Yathir readings
in L which we have designated as Qeres when both Dothan and BHS list a Qere.
”strong=”b/400|������/��� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.0”
”strong=”l/7725|��������/�� x-morph=”OSHM:HR/Vhc” ”strong=”5315|�������
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1” ”strong=”7200|������
x-morph=”OSHM:HVqv2ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0” ”strong=”c/5027|�/���������/��� x-morph=”OSHM:HC/Vhv2ms/Sh”
x-cantillationLevel=”0.1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”1961|���������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”0.0” strong=”2151|���������
b” x-morph=”OSHM:HVqrfsa” x-cantillationLevel=”0”� � 12 ”strong=”3808|�����
x-morph=”OSHM:HTn” ”strong=”413|����/����� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”1.2.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”���������|strong=”5674
a” x-morph=”OSHM:HVqrmpc” ”strong=”1870|������� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1.2” ”strong=”5027|���������� x-morph=”OSHM:HVhv2mp”
”strong=”c/7200|������/�� x-morph=”OSHM:HC/Vqv2mp” x-cantillationLevel=”1.1.1”
strong=”518|��� a” x-morph=”OSHM:HC”������|strong=”3426” x-morph=”OSHM:HTm”
”strong=”4341|��������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.0”
”strong=”k/4341|�/���������/��� x-morph=”OSHM:HR/Ncmsc/Sp1cs”
x-cantillationLevel=”1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”5953|������� a” x-morph=”OSHM:HVMp3ms” x-cantillationLevel=”1.0”
”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1” strong=”834|�������
a” x-morph=”OSHM:HTr” x-cantillationLevel=”0.1.0” ”strong=”3013|�������
x-morph=”OSHM:HVhp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”b/3117|�����/��� x-morph=”OSHM:HR/Ncmsc”

7+ ”strong=”4261|����/������������/������ x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”1.0.0”
8y
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x-cantillationLevel=”0.0” ”strong=”2740|������� x-morph=”OSHM:HNcmsc”
”strong=”639|��/����� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0”�
� 13 ”strong=”m/4791|��������/�� x-morph=”OSHM:HR/Ncmsa” x-
cantillationLevel=”1.0.0” ”strong=”7971|������� x-morph=”OSHM:HVqp3ms”������|strong=”784”
x-morph=”OSHM:HNcbsa” ”strong=”b/6106|�/���������/��� x-morph=”OSHM:HR/Ncfpc/Sp1cs”
x-cantillationLevel=”1.0” strong=”c/7287|����/���������/�� a” x-morph=”OSHM:HC/Vqw3ms/Sp3fs”
x-cantillationLevel=”1” ”strong=”6566|�������� x-morph=”OSHM:HVqp3ms”
”strong=”7568|������� x-morph=”OSHM:HNcfsa” ”strong=”l/7272|��/������/��
x-morph=”OSHM:HR/Ncfdc/Sp1cs” x-cantillationLevel=”0.2.0” ”strong=”7725|���/���������
x-morph=”OSHM:HVhp3ms/Sp1cs” ”strong=”268|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.2” ”strong=”5414|����/������� x-morph=”OSHM:HVqp3ms/Sp1cs”
x-cantillationLevel=”0.1.0” ”strong=”8076|���������� x-morph=”OSHM:HVqrfsa”
x-cantillationLevel=”0.1” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”������/���|strong=”d/3117”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0” ”strong=”1739|�������
x-morph=”OSHM:HAafsa” x-cantillationLevel=”0”� � 14 ”strong=”8244|���������
x-morph=”OSHM:HVNp3ms” ”strong=”5923|���� x-morph=”OSHM:HNcmsc”
”strong=”6588|�/��������� x-morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”1.0.1.0”
”strong=”b/3027|��/����/��� x-morph=”OSHM:HR/Ncbsc/Sp3ms” x-cantillationLevel=”1.0.1”
”strong=”8276|��������������� x-morph=”OSHM:HVti3mp” x-cantillationLevel=”1.0.0”
”strong=”5927|������ x-morph=”OSHM:HVqp3cp” strong=”5921|��� a”
x-morph=”OSHM:HR”�/����������|strong=”6677 a” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”3782|���������� x-morph=”OSHM:HVhp3ms”
strong=”3581|�/������ b” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1”
”strong=”5414|���/������� x-morph=”OSHM:HVqp3ms/Sp1cs” ”strong=”136|�/�������
x-morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”0.1” ”strong=”b/3027|�����/���
x-morph=”OSHM:HR/Ncbdc” x-cantillationLevel=”0.0” ”strong=”3808|���
x-morph=”OSHM:HTn”��������|strong=”3201” x-morph=”OSHM:HVqi1cs”
strong=”6965|����� b” x-morph=”OSHM:HVqc” x-cantillationLevel=”0”�
� 15 strong=”5541|������� a” x-morph=”OSHM:HVpp3ms” ”strong=”3605|���
x-morph=”OSHM:HNcmsc”�/����������|strong=”47” x-morph=”OSHM:HAampc/Sp1cs”
� ”strong=”136|��/������ x-morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”1.1.0”
”strong=”b/7130|�/��������/��� x-morph=”OSHM:HR/Ncmsc/Sp1cs”
x-cantillationLevel=”1.1” ”strong=”7121|������ x-morph=”OSHM:HVqp3ms”
strong=”5921|�/����� a” x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.0.0”
”strong=”4150|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”
”strong=”l/7665|��������/�� x-morph=”OSHM:HR/Vqc” ”strong=”970|�/���������
x-morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”1” ”strong=”1660|�����
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.1.0” ”strong=”1869|��������
x-morph=”OSHM:HVqp3ms” ”strong=”136|�/������� x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”0.1” ”strong=”l/1330|���������/�� x-morph=”OSHM:HR/Ncfsc”
x-cantillationLevel=”0.0” ”strong=”1323|���� x-morph=”OSHM:HNcfsc”����������|strong=”3063”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� � 16 strong=”5921|���
a” x-morph=”OSHM:HR”��������|strong=”428” x-morph=”OSHM:HPdxcp”
x-cantillationLevel=”1.1.1.0” � ”strong=”589|������ x-morph=”OSHM:HPp1cs”
”strong=”1058|���������� x-morph=”OSHM:HVqrfsa” x-cantillationLevel=”1.1.1”
strong=”5869|�/������ a” x-morph=”OSHM:HNcbsc/Sp1cs” � strong=”5869|��/�����
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a” x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”1.1.0” ”strong=”3381|��������
x-morph=”OSHM:HVqrfsa” ”strong=”4325|������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.1” strong=”3588|����� a” x-morph=”OSHM:HC”�������|strong=”7368”
x-morph=”OSHM:HVqp3ms” strong=”4480|����/������ a” x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.0.0” ”strong=”5162|�������� x-morph=”OSHM:HVprmsa”
x-cantillationLevel=”1.0” ”strong=”7725|�������� x-morph=”OSHM:HVhrmsa”
”strong=”5315|�/�������� x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”1”
”strong=”1961|������ x-morph=”OSHM:HVqp3cp” strong=”1121|��/����
a” x-morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”0.1.0” ”strong=”8074|������������
x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”0.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”1396|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0.0” ”strong=”341|������� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”0”� � 17 ”strong=”6566|����������� x-morph=”OSHM:HVpp3fs”
”strong=”6726|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.0”
”strong=”b/3027|��/������/��� x-morph=”OSHM:HR/Ncbdc/Sp3fs” x-
cantillationLevel=”1.1.1” ”strong=”369|����� x-morph=”OSHM:HTn” ”strong=”5162|��������
x-morph=”OSHM:HVprmsa” x-cantillationLevel=”1.1.0” ”strong=”l|��/���
x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1.1” ”strong=”6680|�������
x-morph=”OSHM:HVpp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0.0” ”strong=”l/3290|��������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.0” ”strong=”5439|�/��������� x-morph=”OSHM:HNcbpc/Sp3ms”
strong=”6862|�/������ c” x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”1”
”strong=”1961|�������� x-morph=”OSHM:HVqp3fs” ”strong=”3389|�������������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0” ”strong=”l/5079|�������/��
x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0.0” ”strong=”996|����/�������
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0”� � 18 ”strong=”6662|��������
x-morph=”OSHM:HAamsa” ”strong=”1931|����� x-morph=”OSHM:HPp3ms”
x-cantillationLevel=”1.0.0” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”6310|���/����
x-morph=”OSHM:HNcmsc/Sp3ms” ”strong=”4784|��������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”1” ”strong=”8085|�������� x-morph=”OSHM:HVqv2mp”�����|strong=”4994”
x-morph=”OSHM:HTe” ”strong=”3605|��� x-morph=”OSHM:HNcmsc”�����|strong=”5971
a” x-morph=”OSHM:HNcmpa” x-wType=”x-ketiv” 9 ”strong=”c/7200|������/��
x-morph=”OSHM:HC/Vqv2mp” x-cantillationLevel=”0.1.0” ”strong=”4341|�/���������
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.1” ”strong=”1330|�/�����������
x-morph=”OSHM:HNcfpc/Sp1cs” ”strong=”c/970|�/��������/�� x-morph=”OSHM:HC/Ncmpc/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”1980|�������� x-morph=”OSHM:HVqp3cp”
strong=”b/7628|��������/�� a” x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0”�
� 19 ”strong=”7121|��������� x-morph=”OSHM:HVqp1cs” ”strong=”l/157|��/��������/���
x-morph=”OSHM:HRd/Vprmpc/Sp1cs” x-cantillationLevel=”1.1.0” ”strong=”1992|�������
x-morph=”OSHM:HPp3mp” strong=”7411|���/������� b” x-morph=”OSHM:HVpp3cp/Sp1cs”
x-cantillationLevel=”1.1” ”strong=”3548|�/�������� x-morph=”OSHM:HNcmpc/Sp1cs”
”strong=”c/2205|�/�������/�� x-morph=”OSHM:HC/Aampc/Sp1cs” x-

9+ strong=”d/5971|��������/������� a” x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”0.1.1”
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cantillationLevel=”1.0” strong=”b/5892|�����/��� b” x-morph=”OSHM:HRd/Ncfsa”
”strong=”1478|��������� x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC”����������|strong=”1245”
x-morph=”OSHM:HVpp3cp” ”strong=”400|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1.0” ”strong=”l|���/��� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0.1” ”strong=”c/7725|����������/�� x-morph=”OSHM:HC/Vhj3mp”
x-cantillationLevel=”0.0” ”strong=”853|��� x-morph=”OSHM:HTo”�/���������|strong=”5315”
x-morph=”OSHM:HNcbsc/Sp3mp” x-cantillationLevel=”0”� � 20 ”strong=”7200|������
x-morph=”OSHM:HVqv2ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
strong=”3588|����� a” x-morph=”OSHM:HC”����|strong=”6887” x-morph=”OSHM:HAamsa”��/���|strong=”l”
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.2.0” ”strong=”4578|�/�����
x-morph=”OSHM:HNcmpc/Sp1cs” strong=”2560|������������ a” x-morph=”OSHM:HVjp3cp”
x-cantillationLevel=”1.2” ”strong=”2015|���������� x-morph=”OSHM:HVNp3ms”
strong=”3820|��/����� a” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.1.0”
”strong=”b/7130|�/��������/��� x-morph=”OSHM:HR/Ncmsc/Sp1cs”
x-cantillationLevel=”1.1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”4784|������
x-morph=”OSHM:HVqa” x-cantillationLevel=”1.0” ”strong=”4784|���������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1” ”strong=”m/2351|�����/��
x-morph=”OSHM:HR/Ncmsa” strong=”7921|��������� a” x-morph=”OSHM:HVpp3fs”�������|strong=”2719”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0” strong=”b/1004|�������/���
b” x-morph=”OSHM:HRd/Ncmsa” ”strong=”k/4194|�������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0”� � 21 ”strong=”8085|��������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1.2.1.0” strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”584|���������� x-morph=”OSHM:HVNsfsa” ”strong=”589|������
x-morph=”OSHM:HPp1cs” x-cantillationLevel=”1.2.1” ”strong=”369|�����
x-morph=”OSHM:HTn” ”strong=”5162|�������� x-morph=”OSHM:HVprmsa”
x-cantillationLevel=”1.2.0” ”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.2” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”�/���������|strong=”341”
x-morph=”OSHM:HVqrmpc/Sp1cs” x-cantillationLevel=”1.1.0.0” ”strong=”8085|���������
x-morph=”OSHM:HVqp3cp” strong=”7451|��/������� c” x-morph=”OSHM:HNcfsc/Sp1cs”
x-cantillationLevel=”1.1.0” ”strong=”7797|�������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1.1” strong=”3588|����� a” x-morph=”OSHM:HC” strong=”859|�������
a” x-morph=”OSHM:HPp2ms” x-cantillationLevel=”1.0” strong=”6213|���������
a” x-morph=”OSHM:HVqp2ms” x-cantillationLevel=”1” ”strong=”935|��������
x-morph=”OSHM:HVhp2ms” ”strong=”3117|���� x-morph=”OSHM:HNcmsa”���������|strong=”7121”
x-morph=”OSHM:HVqp2ms” x-cantillationLevel=”0.0” ”strong=”c/1961|���������/��
x-morph=”OSHM:HC/Vqi3mp” ”strong=”3644|���/������ x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0”� � 22 ”strong=”935|������� x-morph=”OSHM:HVqi3fs”
”strong=”3605|��� x-morph=”OSHM:HNcmsc”�/��������|strong=”7451
c” x-morph=”OSHM:HNcfsc/Sp3mp” ”strong=”l/6440|���/������/�� x-
morph=”OSHM:HR/Ncbpc/Sp2ms” x-cantillationLevel=”1.1.0” strong=”c/5953|�������/��
a” x-morph=”OSHM:HC/Vmv2ms” ”strong=”l|���/��� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.1” strong=”k/834|�������/��� d” x-morph=”OSHM:HR/Tr”
strong=”5953|����������� a” x-morph=”OSHM:HVmp2ms” x-cantillationLevel=”1.0.0”
”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.0” strong=”5921|����
a” x-morph=”OSHM:HR” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”�/����������|strong=”6588”
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x-morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”���������|strong=”7227 a” x-morph=”OSHM:HAafpa”
”strong=”585|�/��������� x-morph=”OSHM:HNcfpc/Sp1cs” x-cantillationLevel=”0.0”
strong=”c/3820|�/������/�� a” x-morph=”OSHM:HC/Ncmsc/Sp1cs” ”strong=”1742|�������
x-morph=”OSHM:HAamsa” x-cantillationLevel=”0”� �2 strong=”349|������� b” x-morph=”OSHM:HTi” ”strong=”5743|�������

x-morph=”OSHM:HVhi3ms” ”strong=”b/639|��/�����/��� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
� ”strong=”136|��/������ x-morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”1.2.0”

”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”1323” x-morph=”OSHM:HNcfsc”���������|strong=”6726”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” ”strong=”7993|�����������
x-morph=”OSHM:HVhp3ms” ”strong=”m/8064|�����������/�� x-morph=”OSHM:HR/Ncmpa”
x-cantillationLevel=”1.1.0” ”strong=”776|������ x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1.1” ”strong=”8597|����������� x-morph=”OSHM:HNcfsc”
x-cantillationLevel=”1.0” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”�������|strong=”2142”
x-morph=”OSHM:HVqp3ms” ”strong=”1916|����� x-morph=”OSHM:HNcmsc”�/���������|strong=”7272”
x-morph=”OSHM:HNcfdc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”b/3117|�����/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”639|��/����� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0”� � 2 ”strong=”1104|�������� x-morph=”OSHM:HVpp3ms”
”strong=”136|�/������� x-morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”1.1.1.0”
”strong=”3808|�� x-morph=”OSHM:HTn” x-wType=”x-ketiv” 10 ”strong=”2550|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.1.1” ”strong=”853|����
x-morph=”OSHM:HTo” x-cantillationLevel=”1.1.0” ”strong=”3605|���� x-
morph=”OSHM:HNcmsc”��������|strong=”4999” x-morph=”OSHM:HNcfpc”
”strong=”3290|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”2040|������ x-morph=”OSHM:HVqp3ms” ”strong=”b/5678|��/��������/���
x-morph=”OSHM:HR/Ncfsc/Sp3ms” x-cantillationLevel=”1.0.0” ”strong=”4013|����������
x-morph=”OSHM:HNcmpc” ”strong=”1323|��� x-morph=”OSHM:HNcfsc”����������|strong=”3063”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”5060|���������
x-morph=”OSHM:HVhp3ms” ”strong=”l/776|������/�� x-morph=”OSHM:HRd/Ncbsa”
x-cantillationLevel=”1” strong=”2490|������� c” x-morph=”OSHM:HVpp3ms”
”strong=”4467|���������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0”
”strong=”c/8269|��/�������/�� x-morph=”OSHM:HC/Ncmpc/Sp3fs” x-
cantillationLevel=”0”� � 3 ”strong=”1438|������� x-morph=”OSHM:HVqp3ms”
”strong=”b/2750|�����/���� x-morph=”OSHM:HR/Ncmsc” 11 Marks a
place where we agree with BHQ against BHS in reading L. 12 13 ”strong=”639|����
x-morph=”OSHM:HTa” x-cantillationLevel=”1.1.1” ”strong=”3605|�����
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.1.0” strong=”7161|������
a” x-morph=”OSHM:HNcbsc” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”7725|�������� x-morph=”OSHM:HVhp3ms”
”strong=”268|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0.0”
”strong=”3225|��/������� x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.0”
10+ ”strong=”c/3808|����/���� x-morph=”OSHM:HC/Tn”
11Q
12n Marks an anomalous form.
13p We read punctuation in L differently from BHS.
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”strong=”m/6440|�������/�� x-morph=”OSHM:HR/Ncbpc” ”strong=”341|�������
x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1” strong=”c/1197|���������/��
a” x-morph=”OSHM:HC/Vqw3ms” ”strong=”b/3290|��������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.1.0” ”strong=”k/784|�����/��� x-morph=”OSHM:HR/Ncbsc”
”strong=”3852|��������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.1”
”strong=”398|�������� x-morph=”OSHM:HVqp3fs” x-cantillationLevel=”0.0”
”strong=”5439|������� x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0”�
� 4 ”strong=”1869|�������� x-morph=”OSHM:HVqp3ms” ”strong=”7198|��/��������
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.2.1.0” ”strong=”k/341|�������/���
x-morph=”OSHM:HR/Vqrmsa” x-cantillationLevel=”1.2.1” ”strong=”5324|�������
x-morph=”OSHM:HVNrmsa” ”strong=”3225|���/������ x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”1.2.0” strong=”k/6862|����/��� c” x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”1.2” ”strong=”c/2026|���������/��� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1” ”strong=”3605|����� x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”1.0” ”strong=”4261|���������� x-morph=”OSHM:HNcmpc”�������|strong=”5869
a” x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1” ”strong=”b/168|�������/���
x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”0.1.0” ”strong=”1323|����
x-morph=”OSHM:HNcfsc”���������|strong=”6726” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”8210|�������� x-morph=”OSHM:HVqp3ms”
”strong=”k/784|�����/��� x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0.0”
”strong=”2534|��/������ x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0”�
� 5 ”strong=”1961|������ x-morph=”OSHM:HVqp3ms” ”strong=”136|�/�������
x-morph=”OSHM:HNcmpc/Sp1cs” � ”strong=”k/341|�������/��� x-morph=”OSHM:HR/Vqrmsa”
x-cantillationLevel=”1.2.0” ”strong=”1104|�������� x-morph=”OSHM:HVpp3ms”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
”strong=”1104|�������� x-morph=”OSHM:HVpp3ms” x-cantillationLevel=”1.1.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”��/��������������|strong=”759”
x-morph=”OSHM:HNcmpc/Sp3fs” x-cantillationLevel=”1.1” ”strong=”7843|�������
x-morph=”OSHM:HVpp3ms” x-cantillationLevel=”1.0” ”strong=”4013|�/����������
x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”1” strong=”c/7235|��������/��
a” x-morph=”OSHM:HC/Vhw3ms” x-cantillationLevel=”0.1.0” ”strong=”b/1323|���/���
x-morph=”OSHM:HR/Ncfsc”����������|strong=”3063” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”8386|������������ x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.0” ”strong=”c/592|���������/�� x-morph=”OSHM:HC/Ncfsa”
x-cantillationLevel=”0”� � 6 ”strong=”c/2554|���������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”k/1588|�����/��� x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”1.1.0”
”strong=”7900|��/������ x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.1”
”strong=”7843|������� x-morph=”OSHM:HVpp3ms” x-cantillationLevel=”1.0”
”strong=”4150|��/������� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1”
”strong=”7911|�������� x-morph=”OSHM:HVpp3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” � ”strong=”b/6726|��������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.1.0” ”strong=”4150|������� x-morph=”OSHM:HNcmsa”
”strong=”c/7676|��������/�� x-morph=”OSHM:HC/Ncbsa” x-cantillationLevel=”0.1”
”strong=”c/5006|���������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”b/2195|������/���
x-morph=”OSHM:HR/Ncmsc”��/������|strong=”639” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”4428|������� x-morph=”OSHM:HNcmsa”
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”strong=”c/3548|������/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0”�
� 7 strong=”2186|������ a” x-morph=”OSHM:HVqp3ms” ”strong=”136|�/�������
x-morph=”OSHM:HNcmpc/Sp1cs” � ”strong=”4196|���/�������� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1.2.0” ”strong=”5010|������ x-morph=”OSHM:HVpp3ms”
”strong=”4720|��/���������� x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.2”
”strong=”5462|���������� x-morph=”OSHM:HVhp3ms” x-cantillationLevel=”1.1.0”
”strong=”b/3027|���/��� x-morph=”OSHM:HR/Ncbsc”��������|strong=”341”
x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1.1” ”strong=”2346|�������
x-morph=”OSHM:HNcfpc” x-cantillationLevel=”1.0” ”strong=”759|��/�������������
x-morph=”OSHM:HNcmpc/Sp3fs” x-cantillationLevel=”1” strong=”6963|�����
a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0.0” ”strong=”5414|��������
x-morph=”OSHM:HVqp3cp” strong=”b/1004|����/��� b” x-morph=”OSHM:HR/Ncmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”k/3117|�����/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”4150|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� � 8 ”strong=”2803|������� x-morph=”OSHM:HVqp3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” � ”strong=”l/7843|����������/��
x-morph=”OSHM:HR/Vhc” x-cantillationLevel=”1.2.0” ”strong=”2346|�������
x-morph=”OSHM:HNcfsc” ”strong=”1323|���� x-morph=”OSHM:HNcfsc”���������|strong=”6726”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” ”strong=”5186|������
x-morph=”OSHM:HVqp3ms” strong=”6957|���� b” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” ”strong=”3808|��� x-morph=”OSHM:HTn”���������|strong=”7725”
x-morph=”OSHM:HVhp3ms” ”strong=”3027|��/���� x-morph=”OSHM:HNcbsc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”m/1104|���������/�� x-morph=”OSHM:HR/Vpc”
x-cantillationLevel=”1” ”strong=”c/56|���������/�� x-morph=”OSHM:HC/Vhw3ms”�����|strong=”2426”
x-morph=”OSHM:HNcmsa” ”strong=”c/2346|�������/�� x-morph=”OSHM:HC/Ncfsa”
x-cantillationLevel=”0.0” strong=”3162|��������� b” x-morph=”OSHM:HD”
”strong=”535|���������� x-morph=”OSHM:HVKp3cp” x-cantillationLevel=”0”�
� 9 ”strong=”2883|�������� x-morph=”OSHM:HVqp3cp” ”strong=”b/776|�������/��
x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”1.1.0” ”strong=”8179|��/���������
x-morph=”OSHM:HNcmpc/Sp3fs” x-cantillationLevel=”1.1” ”strong=”6|�������
x-morph=”OSHM:HVpp3ms” ”strong=”c/7665|��������/�� x-morph=”OSHM:HC/Vpp3ms”
x-cantillationLevel=”1.0” ”strong=”1280|��/���������� x-morph=”OSHM:HNcmpc/Sp3fs”
x-cantillationLevel=”1” ”strong=”4428|��/�������� x-morph=”OSHM:HNcmsc/Sp3fs”
”strong=”c/8269|��/�������/�� x-morph=”OSHM:HC/Ncmpc/Sp3fs” strong=”b/1471|��������/��
a” x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”0.2.0” ”strong=”369|�����
x-morph=”OSHM:HTn” ”strong=”8451|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.2” ”strong=”1571|���� x-morph=”OSHM:HTa”��/����������|strong=”5030”
x-morph=”OSHM:HNcmpc/Sp3fs” x-cantillationLevel=”0.1” ”strong=”3808|���
x-morph=”OSHM:HTn”���������|strong=”4672” x-morph=”OSHM:HVqp3cp”
”strong=”2377|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”m/3068|�������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”�
� 10 ”strong=”3427|��������� x-morph=”OSHM:HVqi3mp” ”strong=”l/776|������/��
x-morph=”OSHM:HRd/Ncbsa” strong=”1826|��������� a” x-morph=”OSHM:HVqi3mp”
x-cantillationLevel=”1.2.0” ”strong=”2205|�������� x-morph=”OSHM:HAampc”
”strong=”1323|��� x-morph=”OSHM:HNcfsc”���������|strong=”6726”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” ”strong=”5927|���������



14 CONTENTS

x-morph=”OSHM:HVhp3cp” ”strong=”6083|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1.0” strong=”5921|��� a” x-morph=”OSHM:HR”�/��������|strong=”7218
a” x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”1.1” ”strong=”2296|��������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.0” ”strong=”8242|���������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1” ”strong=”3381|����������
x-morph=”OSHM:HVhp3cp” ”strong=”l/776|�������/�� x-morph=”OSHM:HRd/Ncbsa”
x-cantillationLevel=”0.1.0” strong=”7218|�/������� a” x-morph=”OSHM:HNcmsc/Sp3fp”
x-cantillationLevel=”0.1” ”strong=”1330|���������� x-morph=”OSHM:HNcfpc”
x-cantillationLevel=”0.0” ”strong=”3389|������������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� � 11 ”strong=”3615|������� x-morph=”OSHM:HVqp3cp”
”strong=”b/1832|����������/�� x-morph=”OSHM:HRd/Ncfpa” strong=”5869|��/�����
a” x-morph=”OSHM:HNcbdc/Sp1cs” x-cantillationLevel=”1.2.0” strong=”2560|������������
a” x-morph=”OSHM:HVjp3cp” ”strong=”4578|�/����� x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”1.2” ”strong=”8210|����������� x-morph=”OSHM:HVNp3ms”
”strong=”l/776|�������/�� x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”1.1.0”
”strong=”3516|�/�������� x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”1.1”
strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”7667” x-
morph=”OSHM:HNcmsc” x-cantillationLevel=”1.0” ”strong=”1323|���� x-
morph=”OSHM:HNcfsc”�/�������|strong=”5971 a” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1” strong=”b/5848|������/���� c” x-morph=”OSHM:HR/VNc”
”strong=”5768|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1.0”
”strong=”c/3243|�������/�� x-morph=”OSHM:HC/Vqrmsa” x-cantillationLevel=”0.1”
”strong=”b/7339|���������/��� x-morph=”OSHM:HR/Ncfpc” x-cantillationLevel=”0.0”
”strong=”7151|�������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”�
� 12 ”strong=”l/517|��/�������/�� x-morph=”OSHM:HR/Ncfpc/Sp3mp”
x-cantillationLevel=”1.1.0” ”strong=”559|���������� x-morph=”OSHM:HVqi3mp”
x-cantillationLevel=”1.1” ”strong=”346|������� x-morph=”OSHM:HTi” x-
cantillationLevel=”1.0” ”strong=”1715|������� x-morph=”OSHM:HNcmsa”
”strong=”c/3196|������/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1”
strong=”b/5848|�/�������������/��� c” x-morph=”OSHM:HR/Vtc/Sp3mp”
strong=”k/2491|������/���� a” x-morph=”OSHM:HRd/Aamsa” x-cantillationLevel=”0.2.0”
”strong=”b/7339|���������/��� x-morph=”OSHM:HR/Ncfpc” strong=”5892|�����
b” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.2” ”strong=”b/8210|��������������/���
x-morph=”OSHM:HR/Vtc” ”strong=”5315|�/�������� x-morph=”OSHM:HNcbsc/Sp3mp”
x-cantillationLevel=”0.1” ”strong=”413|��� x-morph=”OSHM:HR”������|strong=”2436”
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.0” ”strong=”517|�/��������
x-morph=”OSHM:HNcfpc/Sp3mp” x-cantillationLevel=”0”� � 13 ”strong=”4100|����
x-morph=”OSHM:HTi”��/���������|strong=”5749 b” x-morph=”OSHM:HVhi1cs/Sp2fs”
x-cantillationLevel=”1.2.1.0” ”strong=”4100|���� x-morph=”OSHM:HTi”
”strong=”1819|�������� x-morph=”OSHM:HVpi1cs”��/�����|strong=”l”
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”1.2.1” ”strong=”d/1323|�����/��
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.2.0” ”strong=”3389|��������������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” ”strong=”4100|���� x-
morph=”OSHM:HTi” strong=”7737|�������� a” x-morph=”OSHM:HVhi1cs”���/����|strong=”l”
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”1.1.0” ”strong=”c/5162|��/����������/��
x-morph=”OSHM:HC/Vpi1cs/Sp2fs” x-cantillationLevel=”1.1” ”strong=”1330|����������



CONTENTS 15

x-morph=”OSHM:HNcfsc” x-cantillationLevel=”1.0” ”strong=”1323|���� x-
morph=”OSHM:HNcfsc”���������|strong=”6726” x-morph=”OSHM:HNp”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC”��������|strong=”1419
a” x-morph=”OSHM:HAamsa” ”strong=”k/3220|�����/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0.0.0” ”strong=”7667|��/�������� x-morph=”OSHM:HNcmsc/Sp2fs”
x-cantillationLevel=”0.0” ”strong=”4310|���� x-morph=”OSHM:HTi” ”strong=”7495|��������
x-morph=”OSHM:HVqi3ms”��/����|strong=”l” x-morph=”OSHM:HR/Sp2fs”
x-cantillationLevel=”0”� � 14 ”strong=”5030|��/���������� x-morph=”OSHM:HNcmpc/Sp2fs”
x-cantillationLevel=”1.1.1” ”strong=”2372|������ x-morph=”OSHM:HVqp3cp”
”strong=”l|���/�� x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”1.1.0”
”strong=”7723|������� x-morph=”OSHM:HNcmsa” strong=”c/8602|������/��
a” x-morph=”OSHM:HC/Aamsa” x-cantillationLevel=”1.1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn”��������|strong=”1540” x-morph=”OSHM:HVpp3cp”
strong=”5921|��� a” x-morph=”OSHM:HR”��/��������|strong=”5771”
x-morph=”OSHM:HNcbsc/Sp2fs” x-cantillationLevel=”1.0” ”strong=”l/7725|��������/��
x-morph=”OSHM:HR/Vhc” ”strong=”7622|�/���� x-morph=”OSHM:HNcfsc/Sp2fs”
x-wType=”x-ketiv” 14 ”strong=”c/2372|���������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”l|��/��� x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0.1”
”strong=”4864|���������� x-morph=”OSHM:HNcfpc” ”strong=”7723|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”c/4065|�����������/��
x-morph=”OSHM:HC/Ncmpa” x-cantillationLevel=”0”� � 15 strong=”5606|���������
a” x-morph=”OSHM:HVqp3cp” strong=”5921|��/������� a” x-morph=”OSHM:HR/Sp2fs”
”strong=”3709|����������� x-morph=”OSHM:HNcfda” x-cantillationLevel=”1.2.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”���������|strong=”5674
a” x-morph=”OSHM:HVqrmpc” ”strong=”1870|������� x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1.2” ”strong=”8319|���������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1.1.0” ”strong=”c/5128|���������/�� x-morph=”OSHM:HC/Vhw3mp”
strong=”7218|�/������� a” x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”1.1”
strong=”5921|��� a” x-morph=”OSHM:HR”������|strong=”1323” x-morph=”OSHM:HNcfsc”
x-cantillationLevel=”1.0” ”strong=”3389|������������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”i/2063|�����/�� x-morph=”OSHM:HTi/Pdxfs”
strong=”d/5892|�����/�� b” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.1.1”
”strong=”s/559|�����������/��� x-morph=”OSHM:HTr/Vqi3mp” x-cantillationLevel=”0.1.0”
”strong=”3632|���������� x-morph=”OSHM:HAafsc” ”strong=”3308|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1” ”strong=”4885|���������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”l/3605|���/��
x-morph=”OSHM:HR/Ncmsc”������/���|strong=”d/776” x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0”� � 16 ”strong=”6475|������� x-morph=”OSHM:HVqp3cp”
strong=”5921|��/������� a” x-morph=”OSHM:HR/Sp2fs” ”strong=”6310|����/����
x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”1.2.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”��/������������|strong=”341” x-morph=”OSHM:HVqrmpc/Sp2fs”
x-cantillationLevel=”1.2” ”strong=”8319|���������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”1.1.0” ”strong=”c/2786|�����������/�� x-morph=”OSHM:HC/Vqw3mp”������|strong=”8127”

14+ ”strong=”7622|��/����������/���� x-morph=”OSHM:HNcfsc/Sp2fs” x-
cantillationLevel=”1”



16 CONTENTS

x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.1” ”strong=”559|��������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.0” ”strong=”1104|������������
x-morph=”OSHM:HVpp1cp” x-cantillationLevel=”1” ”strong=”389|�����
x-morph=”OSHM:HTa” ”strong=”2088|���� x-morph=”OSHM:HPdxms” ”strong=”d/3117|������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0.0” strong=”s/6960|���/����������/���
a” x-morph=”OSHM:HTr/Vpp1cp/Sp3ms” x-cantillationLevel=”0.0” ”strong=”4672|���������
x-morph=”OSHM:HVqp1cp” ”strong=”7200|��������� x-morph=”OSHM:HVqp1cp”
x-cantillationLevel=”0”� � 17 strong=”6213|������� a” x-morph=”OSHM:HVqp3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.0”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”2161|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.1.1” ”strong=”1214|��������
x-morph=”OSHM:HVpp3ms” strong=”565|���/������� b” x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”1.1.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”6680|������� x-morph=”OSHM:HVpp3ms” ”strong=”m/3117|����/���
x-morph=”OSHM:HR/Ncmpc”�������|strong=”6924 a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” ”strong=”2040|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.0” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”2550|������ x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1”
”strong=”c/8055|����������/�� x-morph=”OSHM:HC/Vpw3ms” strong=”5921|���/�������
a” x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0.1.0” ”strong=”341|�������
x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”0.1” strong=”7311|�������
a” x-morph=”OSHM:HVhp3ms” x-cantillationLevel=”0.0” strong=”7161|������
a” x-morph=”OSHM:HNcbsc” strong=”6862|��/������� c” x-morph=”OSHM:HNcmpc/Sp2fs”
x-cantillationLevel=”0”� � 18 ”strong=”6817|������ x-morph=”OSHM:HVqp3ms”
strong=”3820|�/������ a” x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”1.0”
”strong=”413|��� x-morph=”OSHM:HR”�/��������|strong=”136” x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”1” ”strong=”2346|������� x-morph=”OSHM:HNcfsc”
”strong=”1323|���� x-morph=”OSHM:HNcfsc”���������|strong=”6726”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2.0.0” ”strong=”3381|����������
x-morph=”OSHM:HVhv2fs” strong=”k/5158|�������/�� a” x-morph=”OSHM:HRd/Ncmsa”
”strong=”1832|��������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.2.0”
”strong=”3119|������� x-morph=”OSHM:HD” ”strong=”c/3915|��������/��
x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.2” ”strong=”408|����
x-morph=”OSHM:HTn”�����������|strong=”5414” x-morph=”OSHM:HVqj2fs”
”strong=”6314|������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.1.0”
”strong=”l|��/��� x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0.1”
”strong=”408|��� x-morph=”OSHM:HTn”���������|strong=”1826 a” x-
morph=”OSHM:HVqj3fs” x-cantillationLevel=”0.0” ”strong=”1323|���� x-
morph=”OSHM:HNcfsc”��/�������|strong=”5869 a” x-morph=”OSHM:HNcbsc/Sp2fs”
x-cantillationLevel=”0”� � 19 strong=”6965|������� b” x-morph=”OSHM:HVqv2fs”
x-cantillationLevel=”1.2.1.0” � strong=”7442|������� b” x-morph=”OSHM:HVqv2fs”
”strong=”b/3915|���/� x-morph=”OSHM:HRd/Ncmsa” x-wType=”x-ketiv”
15 strong=”l/7218|������/�� a” x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”1.2.0”

15+ ”strong=”b/3915|���������/�����/� x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”1.2.1”



CONTENTS 17

”strong=”821|������������ x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1.2”
”strong=”8210|��������� x-morph=”OSHM:HVqv2fs” ”strong=”k/4325|��������/��
x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”1.1.0” strong=”3820|��/������
a” x-morph=”OSHM:HNcmsc/Sp2fs” x-cantillationLevel=”1.1” ”strong=”5227|������
x-morph=”OSHM:HR” x-cantillationLevel=”1.0” ”strong=”6440|�������
x-morph=”OSHM:HNcbpc” ”strong=”136|�/������� x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”1” ”strong=”5375|������� x-morph=”OSHM:HVqv2fs”
”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms” ”strong=”3709|��/���������
x-morph=”OSHM:HNcfdc/Sp2fs” x-cantillationLevel=”0.1.1” strong=”5921|���
a” x-morph=”OSHM:HR”���������|strong=”5315” x-morph=”OSHM:HNcbsc”
x-cantillationLevel=”0.1.0” ”strong=”5768|��/����������� x-morph=”OSHM:HNcmpc/Sp2fs”
x-cantillationLevel=”0.1” strong=”d/5848|����������/�� c” x-morph=”OSHM:HTd/Vqsmpa”
”strong=”b/7458|������/��� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.0”
strong=”b/7218|������/��� a” x-morph=”OSHM:HR/Ncmsc” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”���������|strong=”2351” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0”� � 20 ”strong=”7200|������ x-morph=”OSHM:HVqv2ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”c/5027|�/���������/��� x-morph=”OSHM:HC/Vhv2ms/Sh” x-
cantillationLevel=”1.1” ”strong=”l/4310|����/�� x-morph=”OSHM:HR/Ti”
x-cantillationLevel=”1.0” strong=”5953|����������� a” x-morph=”OSHM:HVmp2ms”
”strong=”3541|����� x-morph=”OSHM:HD” x-cantillationLevel=”1” strong=”518|���
a” x-morph=”OSHM:HC”�������������|strong=”398” x-morph=”OSHM:HVqi3fp”
”strong=”802|�������� x-morph=”OSHM:HNcfpa” ”strong=”6529|��/�������
x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”0.1.0” ”strong=”5768|��������
x-morph=”OSHM:HNcmpc” ”strong=”2949|���������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.1” strong=”518|��� a” x-morph=”OSHM:HC”���������|strong=”2026”
x-morph=”OSHM:HVNi3ms” x-cantillationLevel=”0.0.0” ”strong=”b/4720|����������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”136|�/������� x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”3548|������� x-morph=”OSHM:HNcmsa”
”strong=”c/5030|�������/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0”�
� 21 ”strong=”7901|��������� x-morph=”OSHM:HVqp3cp” ”strong=”l/776|������/��
x-morph=”OSHM:HRd/Ncbsa” ”strong=”2351|�������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.1.0” ”strong=”5288|������ x-morph=”OSHM:HNcmsa”
”strong=”c/2205|������/�� x-morph=”OSHM:HC/Aamsa” x-cantillationLevel=”1.1”
”strong=”1330|�/����������� x-morph=”OSHM:HNcfpc/Sp1cs” ”strong=”c/970|�/��������/��
x-morph=”OSHM:HC/Ncmpc/Sp1cs” x-cantillationLevel=”1.0” ”strong=”5307|��������
x-morph=”OSHM:HVqp3cp” ”strong=”b/2719|������/�� x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”1” ”strong=”2026|����������� x-morph=”OSHM:HVqp2ms”
x-cantillationLevel=”0.1.0” ”strong=”b/3117|�����/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”639|��/������ x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”0.1”
”strong=”2873|���������� x-morph=”OSHM:HVqp2ms” x-cantillationLevel=”0.0”
”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”2550|����������
x-morph=”OSHM:HVqp2ms” x-cantillationLevel=”0”� � 22 ”strong=”7121|���������
x-morph=”OSHM:HVqi2ms” ”strong=”k/3117|�����/�� x-morph=”OSHM:HR/Ncmsc”
”strong=”4150|������� x-morph=”OSHM:HNcmsa” ”strong=”4032|��/�������
x-morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”1.1.0” ”strong=”m/5439|��������/��



18 CONTENTS

x-morph=”OSHM:HR/Ncbsa” x-cantillationLevel=”1.1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”1961|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.0.0” ”strong=”b/3117|�����/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”639|��� x-morph=”OSHM:HTa”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” strong=”6412|�������� a” x-morph=”OSHM:HNcmsa”
”strong=”c/8300|��������/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1”
strong=”834|������ a” x-morph=”OSHM:HTr”�������������|strong=”2946”
x-morph=”OSHM:HVpp1cs” strong=”c/7235|����������/�� a” x-morph=”OSHM:HC/Vpp1cs”
x-cantillationLevel=”0.0” ”strong=”341|�/������� x-morph=”OSHM:HVqrmsc/Sp1cs”
”strong=”3615|�/������ x-morph=”OSHM:HVpp3ms/Sp3mp” x-cantillationLevel=”0”�
�3 ”strong=”589|������ x-morph=”OSHM:HPp1cs” ”strong=”d/1397|��������/��

x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.0” ”strong=”7200|������
x-morph=”OSHM:HVqp3ms” ”strong=”6040|������ x-morph=”OSHM:HNcmsa”

x-cantillationLevel=”0.1” ”strong=”b/7626|�������/��� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”0.0” ”strong=”5678|��/�������� x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”0”� 2 ”strong=”853|�/������ x-morph=”OSHM:HTo/Sp1cs”
strong=”5090|������ a” x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0.0”
”strong=”c/3212|��������/�� x-morph=”OSHM:HC/Vhw3ms” x-cantillationLevel=”0.0”
”strong=”2822|�������� x-morph=”OSHM:HNcmsa” ”strong=”c/3808|���/��
x-morph=”OSHM:HC/Tn”������|strong=”216” x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”0”� 3 ”strong=”389|����� x-morph=”OSHM:HTa”
”strong=”b|�/���� x-morph=”OSHM:HR/Sp1cs” ”strong=”7725|�������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”0.0.0” ”strong=”2015|���������
x-morph=”OSHM:HVqi3ms” ”strong=”3027|��/���� x-morph=”OSHM:HNcbsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”������/���|strong=”d/3117”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� � 4 ”strong=”1086|��������
x-morph=”OSHM:HVpp3ms” ”strong=”1320|��/������� x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0.1.0” ”strong=”c/5785|�/������/�� x-morph=”OSHM:HC/Ncmsc/Sp1cs”
x-cantillationLevel=”0.1” ”strong=”7665|�������� x-morph=”OSHM:HVpp3ms”
x-cantillationLevel=”0.0” ”strong=”6106|�/���������� x-morph=”OSHM:HNcfpc/Sp1cs”
x-cantillationLevel=”0”� 5 ”strong=”1129|������� x-morph=”OSHM:HVqp3ms”
strong=”5921|�/����� a” x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.0.0”
strong=”c/5362|��������/�� b” x-morph=”OSHM:HC/Vhw3ms” x-cantillationLevel=”0.0”
”strong=”7219|������ x-morph=”OSHM:HNcmsa” ”strong=”c/8513|��������/��
x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”0”� 6 ”strong=”b/4285|�������������/���
x-morph=”OSHM:HR/Ncmpa” ”strong=”3427|���/���������� x-morph=”OSHM:HVhp3ms/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”k/4191|������/��� x-morph=”OSHM:HR/Vqrmpc”
”strong=”5769|������� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
� 7 ”strong=”1443|������� x-morph=”OSHM:HVqp3ms” ”strong=”1157|�/��������
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.0.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”3318|������ x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”0.0” ”strong=”3513|���������� x-morph=”OSHM:HVhp3ms”
strong=”5178|�/����������� a” x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”0”�
8 ”strong=”1571|����� x-morph=”OSHM:HTa” strong=”3588|����� a”
x-morph=”OSHM:HC” ”strong=”2199|�������� x-morph=”OSHM:HVqi1cs”



CONTENTS 19

x-cantillationLevel=”0.1.0” ”strong=”c/7768|�����������/�� x-morph=”OSHM:HC/Vpi1cs”
x-cantillationLevel=”0.1” strong=”5640|������� b” x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0.0” ”strong=”8605|�/����������� x-morph=”OSHM:HNcfsc/Sp1cs”
x-cantillationLevel=”0”� 9 ”strong=”1443|������� x-morph=”OSHM:HVqp3ms”
”strong=”1870|��/������� x-morph=”OSHM:HNcbpc/Sp1cs” x-cantillationLevel=”0.1.0”
”strong=”b/1496|�������/��� x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0.1”
strong=”5410|�/���������� b” x-morph=”OSHM:HNcbpc/Sp1cs” x-cantillationLevel=”0.0”
strong=”5753|������� a” x-morph=”OSHM:HVpp3ms” x-cantillationLevel=”0”�
� 10 ”strong=”1677|����� x-morph=”OSHM:HNcmsa” ”strong=”693|������
x-morph=”OSHM:HVqrmsa” ”strong=”1931|����� x-morph=”OSHM:HPp3ms”
x-cantillationLevel=”0.1.0” ”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0.1” strong=”738|���� a” x-morph=”OSHM:HNcmsa”
x-wType=”x-ketiv” 16 ”strong=”b/4565|������������/��� x-morph=”OSHM:HR/Ncmpa”
x-cantillationLevel=”0”� 11 ”strong=”1870|�/�������� x-morph=”OSHM:HNcbpc/Sp1cs”
”strong=”5493|������� x-morph=”OSHM:HVop3ms” x-cantillationLevel=”0.0.0”
”strong=”c/6582|���/�����������/��� x-morph=”OSHM:HC/Vpw3ms/Sp1cs”
x-cantillationLevel=”0.0” strong=”7760|���/������ a” x-morph=”OSHM:HVqp3ms/Sp1cs”
”strong=”8076|������� x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”0”�
12 ”strong=”1869|�������� x-morph=”OSHM:HVqp3ms” ”strong=”7198|���/������
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0.1.0” 17Marks a place
where we agree with BHQ against BHS in reading L. 18 19 ”strong=”c/5324|���/����������/��
x-morph=”OSHM:HC/Vhw3ms/Sp1cs” x-cantillationLevel=”0.1” ”strong=”k/4307|����������/���
x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”0.0” ”strong=”l/2671|����/��
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0”� � 13 ”strong=”935|�������
x-morph=”OSHM:HVhp3ms” x-cantillationLevel=”0.1.0” ”strong=”b/3629|�/����������/���
x-morph=”OSHM:HR/Ncfpc/Sp1cs” x-cantillationLevel=”0.1” strong=”1121|�������
a” x-morph=”OSHM:HNcmpc” x-cantillationLevel=”0.0” ”strong=”827|��/����������
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0”� 14 ”strong=”1961|���������
x-morph=”OSHM:HVqp1cs” ”strong=”7814|�������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1.0” 20 We read the punctuation in L differently from
BHQ. ”strong=”l/3605|���/�� x-morph=”OSHM:HR/Ncmsc”�/�������|strong=”5971
a” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.1” ”strong=”5058|�/����������
x-morph=”OSHM:HNcfsc/Sp3mp” x-cantillationLevel=”0.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”������/���|strong=”d/3117” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 15 ”strong=”7646|���/������������ x-morph=”OSHM:HVhp3ms/Sp1cs”
”strong=”b/4844|�����������/�� x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”0.0”
”strong=”7301|���/������� x-morph=”OSHM:HVhp3ms/Sp1cs” ”strong=”3939|��������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”� � 16 ”strong=”c/1638|���������/��
x-morph=”OSHM:HC/Vhw3ms” ”strong=”b/2687|������/���� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0.1.0” ”strong=”8127|�/������� x-morph=”OSHM:HNcbdc/Sp1cs”
x-cantillationLevel=”0.1” ”strong=”3728|���/������������ x-morph=”OSHM:HVhp3ms/Sp1cs”
16+ strong=”738|���������� a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
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18n Marks an anomalous form.
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23q We have abandoned or added a ketib/qere relative to BHS. In doing this we agree with L
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x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”0.1” ”strong=”136|�/�������
x-morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”0.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”6680|������� x-morph=”OSHM:HVpp3ms”
x-cantillationLevel=”0”� 38 ”strong=”m/6310|�����/�� x-morph=”OSHM:HR/Ncmsc”
strong=”5945|��������� b” x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.1.0”
”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”3318|������ x-morph=”OSHM:HVqi3fs”
x-cantillationLevel=”0.1” strong=”d/7451|�������/�� c” x-morph=”OSHM:HTd/Ncfpa”
x-cantillationLevel=”0.0” strong=”c/d/2896|������/��/�� a” x-morph=”OSHM:HC/Td/Aamsa”
x-cantillationLevel=”0”� 39 ”strong=”4100|��� x-morph=”OSHM:HTi”�������������|strong=”596”
x-morph=”OSHM:HVri3ms” x-cantillationLevel=”0.1.0” ”strong=”120|������
x-morph=”OSHM:HNcmsa” strong=”2416|���� a” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0.1” ”strong=”1397|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” strong=”5921|��� a” x-morph=”OSHM:HR”�/����|strong=”2399”
x-morph=”OSHM:HNcmsc/Sp3ms” x-wType=”x-ketiv” 28 �� 40 ”strong=”2664|������������
x-morph=”OSHM:HVqh1cp” ”strong=”1870|����/�������� x-morph=”OSHM:HNcbpc/Sp1cp”
x-cantillationLevel=”0.1.0” ”strong=”c/2713|����������/��� x-morph=”OSHM:HC/Vqh1cp”
x-cantillationLevel=”0.1” ”strong=”c/7725|����������/�� x-morph=”OSHM:HC/Vqh1cp”
x-cantillationLevel=”0.0” ”strong=”5704|��� x-morph=”OSHM:HR”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 41 ”strong=”5375|��������
25Q
26n Marks an anomalous form.
27p We read punctuation in L differently from BHS.
28+ ”strong=”2399|�/���������/��� x-morph=”OSHM:HNcmpc/Sp3ms” x-
cantillationLevel=”0”
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x-morph=”OSHM:HVqh1cp” ”strong=”3824|����/������� x-morph=”OSHM:HNcmsc/Sp1cp”
x-cantillationLevel=”0.1.0” ”strong=”413|��� x-morph=”OSHM:HR”�����������|strong=”3709”
x-morph=”OSHM:HNcfda” x-cantillationLevel=”0.1” ”strong=”413|��� x-
morph=”OSHM:HR”�����|strong=”410” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”b/8064|����������/��� x-morph=”OSHM:HRd/Ncmpa” x-cantillationLevel=”0”�
42 ”strong=”5168|�������� x-morph=”OSHM:HPp1cp” ”strong=”6586|������������
x-morph=”OSHM:HVqp1cp” x-cantillationLevel=”0.1.0” ”strong=”c/4784|���������/��
x-morph=”OSHM:HC/Vqp1cp” x-cantillationLevel=”0.1” strong=”859|�������
a” x-morph=”OSHM:HPp2ms” x-cantillationLevel=”0.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”5545|���������� x-morph=”OSHM:HVqp2ms”
x-cantillationLevel=”0”� � 43 strong=”5526|��������� b” x-morph=”OSHM:HVqp2ms”
”strong=”b/639|����/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.1.0”
”strong=”c/7291|���/�����������/��� x-morph=”OSHM:HC/Vqw2ms/Sp1cp”
x-cantillationLevel=”0.1” ”strong=”2026|���������� x-morph=”OSHM:HVqp2ms”
x-cantillationLevel=”0.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”2550|����������
x-morph=”OSHM:HVqp2ms” x-cantillationLevel=”0”� 44 strong=”5526|����������
b” x-morph=”OSHM:HVqp2ms” ”strong=”b/6051|������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0.1.0” ”strong=”l|��/��� x-morph=”OSHM:HR/Sp2fs”
x-cantillationLevel=”0.1” strong=”m/5674|�������/�� a” x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0.0” ”strong=”8605|���������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0”� 45 ”strong=”5501|������ x-morph=”OSHM:HNcmsa”
”strong=”c/3973|�������/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.0.0”
strong=”7760|���/���������� a” x-morph=”OSHM:HVqi2ms/Sp1cp” x-
cantillationLevel=”0.0” ”strong=”b/7130|������/��� x-morph=”OSHM:HR/Ncmsc”
strong=”d/5971|��������/�� a” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0”�
� 46 ”strong=”6475|������� x-morph=”OSHM:HVqp3cp” strong=”5921|���/������
a” x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”0.0.0” ”strong=”6310|����/����
x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”0.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”���/���������|strong=”341” x-morph=”OSHM:HVqrmpc/Sp1cp”
x-cantillationLevel=”0”� 47 ”strong=”6343|������� x-morph=”OSHM:HNcmsa”
”strong=”c/6354|������/�� x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”0.0.0”
”strong=”1961|������ x-morph=”OSHM:HVqp3ms” ”strong=”l|���/���
x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”0.0” ”strong=”d/7612|�������/��
x-morph=”OSHM:HTd/Ncfsa” ”strong=”c/d/7667|��������/��/�� x-morph=”OSHM:HC/Td/Ncmsa”
x-cantillationLevel=”0”� 48 ”strong=”6388|�������� x-morph=”OSHM:HNcmpc”��������|strong=”4325”
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.1.0” ”strong=”3381|�������
x-morph=”OSHM:HVqi3fs” strong=”5869|�/������ a” x-morph=”OSHM:HNcbsc/Sp1cs”
x-cantillationLevel=”0.1” strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”7667”
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.0” ”strong=”1323|����
x-morph=”OSHM:HNcfsc”�/�������|strong=”5971 a” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0”� � 49 strong=”5869|�/������ a” x-morph=”OSHM:HNcbsc/Sp1cs”
”strong=”5064|��������� x-morph=”OSHM:HVNp3fs” x-cantillationLevel=”0.0.0”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” ”strong=”1820|��������
x-morph=”OSHM:HVqi3fs” x-cantillationLevel=”0.0” ”strong=”m/369|�����/��
x-morph=”OSHM:HR/Tn” ”strong=”2014|��������� x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”0”� 50 ”strong=”5704|��� x-morph=”OSHM:HR”�����������|strong=”8259”
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x-morph=”OSHM:HVhi3ms” ”strong=”c/7200|������/�� x-morph=”OSHM:HC/Vqi3ms”
x-cantillationLevel=”0.1” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”m/8064|����������/�� x-morph=”OSHM:HR/Ncmpa”
x-cantillationLevel=”0”� 51 strong=”5869|��/����� a” x-morph=”OSHM:HNcbsc/Sp1cs”
x-cantillationLevel=”0.1.0” strong=”5953|���������� a” x-morph=”OSHM:HVmp3fs”
”strong=”l/5315|�/��������/�� x-morph=”OSHM:HR/Ncbsc/Sp1cs” x-
cantillationLevel=”0.1” ”strong=”m/3605|�����/�� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”0.0” ”strong=”1323|�������� x-morph=”OSHM:HNcfpc”
strong=”5892|�/������ b” x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”0”�
� 52 strong=”6679|����� a” x-morph=”OSHM:HVqa” strong=”6679|���/������
a” x-morph=”OSHM:HVqp3cp/Sp1cs” x-cantillationLevel=”0.0.0” ”strong=”k/6833|���������/���
x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0.0” ”strong=”341|�/�������
x-morph=”OSHM:HVqrmpc/Sp1cs” ”strong=”2600|������� x-morph=”OSHM:HD”
x-cantillationLevel=”0”� 53 ”strong=”6789|��������� x-morph=”OSHM:HVqp3cp”
strong=”b/953|������/�� a” x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0.1.0”
strong=”2416|�/������ e” x-morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”0.1”
”strong=”c/3034|�������/�� x-morph=”OSHM:HC/Vpw3mp”�������|strong=”68”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0” ”strong=”b|�/���� x-
morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0”� 54 ”strong=”6687|������
x-morph=”OSHM:HVqp3cp”�������|strong=”4325” x-morph=”OSHM:HNcmpa”
strong=”5921|��� a” x-morph=”OSHM:HR”�/��������|strong=”7218 a”
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.0” ”strong=”559|�����������
x-morph=”OSHM:HVqp1cs” ”strong=”1504|������������� x-morph=”OSHM:HVNp1cs”
x-cantillationLevel=”0”� � 55 ”strong=”7121|��������� x-morph=”OSHM:HVqp1cs”
”strong=”8034|���/����� x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”0.1.0”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
strong=”m/953|������/�� a” x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”0.0”
”strong=”8482|�������������� x-morph=”OSHM:HAafpa” x-cantillationLevel=”0”�
56 strong=”6963|�/������ a” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.0”
”strong=”8085|����������� x-morph=”OSHM:HVqp2ms” x-cantillationLevel=”1”
”strong=”408|��� x-morph=”OSHM:HTn”����������|strong=”5956” x-
morph=”OSHM:HVhj2ms” ”strong=”241|���/������ x-morph=”OSHM:HNcfsc/Sp2ms”
x-cantillationLevel=”0.0.0” ”strong=”l/7309|�/���������/�� x-morph=”OSHM:HR/Ncfsc/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”l/7775|�/����������/�� x-morph=”OSHM:HR/Ncfsc/Sp1cs”
x-cantillationLevel=”0”� 57 ”strong=”7126|����������� x-morph=”OSHM:HVqp2ms”
x-cantillationLevel=”0.1.0” ”strong=”b/3117|�����/��� x-morph=”OSHM:HR/Ncmsa”
”strong=”7121|���/��������� x-morph=”OSHM:HVqi1cs/Sp2ms” x-cantillationLevel=”0.1”
”strong=”559|���������� x-morph=”OSHM:HVqp2ms” x-cantillationLevel=”0.0”
”strong=”408|��� x-morph=”OSHM:HTn”���������|strong=”3372” x-
morph=”OSHM:HVqj2ms” x-cantillationLevel=”0”� � 58 ”strong=”7378|��������
x-morph=”OSHM:HVqp2ms” ”strong=”136|�/������� x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”0.0.0” ”strong=”7379|������� x-morph=”OSHM:HNcbpc”
”strong=”5315|�/�������� x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”0.0”
strong=”1350|����������� a” x-morph=”OSHM:HVqp2ms” strong=”2416|�/������
e” x-morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”0”� 59 ”strong=”7200|���������
x-morph=”OSHM:HVqp2ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
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x-cantillationLevel=”0.1.0” ”strong=”5792|�/����������� x-morph=”OSHM:HNcfsc/Sp1cs”
x-cantillationLevel=”0.1” ”strong=”8199|�/�������� x-morph=”OSHM:HVqv2ms/Sh”
x-cantillationLevel=”0.0” ”strong=”4941|�/����������� x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0”� 60 ”strong=”7200|���������� x-morph=”OSHM:HVqp2ms”
x-cantillationLevel=”0.1.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”�/����������|strong=”5360”
x-morph=”OSHM:HNcfsc/Sp3mp” x-cantillationLevel=”0.1” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”�/�������������|strong=”4284” x-morph=”OSHM:HNcfpc/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”0”� � 61 ”strong=”8085|����������� x-morph=”OSHM:HVqp2ms”
”strong=”2781|��/��������� x-morph=”OSHM:HNcfsc/Sp3mp” x-cantillationLevel=”0.1.0”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”�/�������������|strong=”4284”
x-morph=”OSHM:HNcfpc/Sp3mp” x-cantillationLevel=”0.0” strong=”5921|�/�����
a” x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0”� 62 ”strong=”8193|���������
x-morph=”OSHM:HNcfdc” strong=”6965|��/���� b” x-morph=”OSHM:HVqrmpc/Sp1cs”
x-cantillationLevel=”0.1.0” ”strong=”c/1902|�/����������/�� x-morph=”OSHM:HC/Ncmsc/Sp3mp”
x-cantillationLevel=”0.1” strong=”5921|�/����� a” x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”������/���|strong=”d/3117”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� 63 ”strong=”3427|�/���������
x-morph=”OSHM:HVqc/Sp3mp” ”strong=”c/7012|��/��������/�� x-morph=”OSHM:HC/Ncfsc/Sp3mp”
x-cantillationLevel=”0.1.0” ”strong=”5027|�/��������� x-morph=”OSHM:HVhv2ms/Sh”
x-cantillationLevel=”0.1” ”strong=”589|������ x-morph=”OSHM:HPp1cs”
x-cantillationLevel=”0.0” ”strong=”4485|�/������������� x-morph=”OSHM:HNcfsc/Sp3mp”
x-cantillationLevel=”0”� � 64 ”strong=”7725|��������� x-morph=”OSHM:HVhi2ms”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp” ”strong=”1576|��������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”k/4639|���������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”3027|����/����� x-morph=”OSHM:HNcbdc/Sp3mp”
x-cantillationLevel=”0”� 65 ”strong=”5414|�������� x-morph=”OSHM:HVqi2ms”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.1.0”
”strong=”4044|�������� x-morph=”OSHM:HNcfsc”�����|strong=”3820
a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1” ”strong=”8381|���/����������
x-morph=”OSHM:HNcfsc/Sp2ms” x-cantillationLevel=”0.0” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0”� 66 ”strong=”7291|����������
x-morph=”OSHM:HVqi2ms” ”strong=”b/639|����/��� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0.1.0” ”strong=”c/8045|�/�����������/�� x-morph=”OSHM:HC/Vhi2ms/Sp3mp”
x-cantillationLevel=”0.1” ”strong=”m/8478|�������/�� x-morph=”OSHM:HR/R”
x-cantillationLevel=”0.0” ”strong=”8064|������� x-morph=”OSHM:HNcmpc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
�4 strong=”349|������� b” x-morph=”OSHM:HTi” x-cantillationLevel=”1.1.0”

”strong=”6004|������� x-morph=”OSHM:HVHi3ms” ”strong=”2091|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1” ”strong=”8132|���������

x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.0” ”strong=”d/3800|�������/��
x-morph=”OSHM:HTd/Ncmsa” strong=”d/2896|������/�� a” x-morph=”OSHM:HTd/Aamsa”
x-cantillationLevel=”1” ”strong=”8210|������������������� x-morph=”OSHM:HVti3fp”
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x-cantillationLevel=”0.1.0” ”strong=”68|������� x-morph=”OSHM:HNcfpc”��������|strong=”6944”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1” strong=”b/7218|������/���
a” x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”0.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”���������|strong=”2351” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0”� � 2 strong=”1121|������� a” x-morph=”OSHM:HNcmpc”
”strong=”6726|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”d/3368|���������/�� x-morph=”OSHM:HTd/Aampa” x-cantillationLevel=”1.1”
”strong=”d/5537|������������/�� x-morph=”OSHM:HTd/VPsmpa” x-
cantillationLevel=”1.0” ”strong=”b/6337|�����/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1” strong=”349|������� b” x-morph=”OSHM:HTi”
”strong=”2803|����������� x-morph=”OSHM:HVNp3cp” x-cantillationLevel=”0.1.0”
strong=”l/5035|�������/�� a” x-morph=”OSHM:HR/Ncmpc”��������|strong=”2789”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1” ”strong=”4639|���������
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.0” ”strong=”3027|������
x-morph=”OSHM:HNcbdc” ”strong=”3335|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� � 3 ”strong=”1571|���� x-morph=”OSHM:HTa”�����|strong=”8568”
x-morph=”OSHM:HNcbpa” x-wType=”x-ketiv” 29 strong=”2502|��������
a” x-morph=”OSHM:HVqp3cp” strong=”7699|����� a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1” ”strong=”3243|���������� x-morph=”OSHM:HVhp3cp”
x-cantillationLevel=”1.0” ”strong=”1482|����/������� x-morph=”OSHM:HNcmpc/Sp3fp”
x-cantillationLevel=”1” ”strong=”1323|���� x-morph=”OSHM:HNcfsc”�/�������|strong=”5971
a” x-morph=”OSHM:HNcmsc/Sp1cs” ”strong=”l/393|��������/�� x-morph=”OSHM:HR/Aamsa”
x-cantillationLevel=”0.1” strong=”3588|�� a” x-morph=”OSHM:HC” ”strong=”3283|����
x-morph=”OSHM:HNcmpa” x-wType=”x-ketiv” 30 strong=”b/4057|����������/���
b” x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0”� � 4 ”strong=”1692|�������
x-morph=”OSHM:HVqp3ms” ”strong=”3956|�������� x-morph=”OSHM:HNcbsc”
”strong=”3243|������� x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1.0.0”
”strong=”413|��� x-morph=”OSHM:HR”��/�����|strong=”2441” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1.0” 31 Marks a place where we agree with BHQ against
BHS in reading L. 32 33 ”strong=”b/6772|�������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1” ”strong=”5768|����������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.1.0” ”strong=”7592|��������� x-morph=”OSHM:HVqp3cp”
”strong=”3899|������ x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.1”
”strong=”6566|�������� x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”0.0”
”strong=”369|����� x-morph=”OSHM:HTn” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0”� � 5 ”strong=”d/398|����������/�� x-morph=”OSHM:HTd/Vqrmpa”
x-cantillationLevel=”1.1.0” ”strong=”l/4574|�������������/�� x-morph=”OSHM:HR/Ncbpa”
x-cantillationLevel=”1.1” ”strong=”8074|���������� x-morph=”OSHM:HVNp3cp”
x-cantillationLevel=”1.0” ”strong=”b/2351|��������/��� x-morph=”OSHM:HRd/Ncmpa”

29+ ”strong=”8568|������������� x-morph=”OSHM:HNcbpa” x-
cantillationLevel=”1.1.0”
30+ �� ”strong=”k/3283|���������/������� x-morph=”OSHM:HRd/Ncmpa” x-
cantillationLevel=”0.0”
31Q
32n Marks an anomalous form.
33v We read one or more vowels in L differently from BHS.
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x-cantillationLevel=”1” ”strong=”d/539|���������/�� x-morph=”OSHM:HTd/Vqsmpa”
x-cantillationLevel=”0.1.0” strong=”5921|������ a” x-morph=”OSHM:HR”
strong=”8438|������� a” x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.1”
”strong=”2263|��������� x-morph=”OSHM:HVpp3cp” x-cantillationLevel=”0.0”
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BHS in reading L. 43 44 ”strong=”l|���/��� x-morph=”OSHM:HR/Sp1cp”
x-cantillationLevel=”0”� 6 ”strong=”4714|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0” ”strong=”5414|��������� x-morph=”OSHM:HVqp1cp”

39+ ”strong=”5027|�/������������� x-morph=”OSHM:HVhv2ms/Sh” x-
cantillationLevel=”0.0”
40+ ”strong=”c/369|�����/����� x-morph=”OSHM:HC/Tn”
41+ ”strong=”c/3808|����/���� x-morph=”OSHM:HC/Tn”
42Q
43c We read one or more accents in L differently than BHS. Often this notation indicates a typo-
graphical error in BHS.
44p We read punctuation in L differently from BHS.
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”strong=”3027|���� x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.1”
”strong=”804|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”l/7646|����������/�� x-morph=”OSHM:HR/Vqc” ”strong=”3899|������
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0”� 7 ”strong=”1|���/��������
x-morph=”OSHM:HNcmpc/Sp1cp” ”strong=”2398|��������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0.1.0” ”strong=”369|�/��� x-morph=”OSHM:HTn/Sp3mp”
x-wType=”x-ketiv” 45 ”strong=”587|����� x-morph=”OSHM:HPp1cp” x-
wType=”x-ketiv” 46 ”strong=”5771|����/��������� x-morph=”OSHM:HNcbpc/Sp3mp”
”strong=”5445|���������� x-morph=”OSHM:HVqp1cp” x-cantillationLevel=”0”�
8 ”strong=”5650|��������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.1.0”
”strong=”4910|��������� x-morph=”OSHM:HVqp3cp” ”strong=”b|���/���
x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”0.1” ”strong=”6561|�������
x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”0.0” ”strong=”369|�����
x-morph=”OSHM:HTn” ”strong=”m/3027|�/������/�� x-morph=”OSHM:HR/Ncbsc/Sp3mp”
x-cantillationLevel=”0”� 9 ”strong=”b/5315|����/��������/��� x-morph=”OSHM:HR/Ncbsc/Sp1cp”
x-cantillationLevel=”0.1.0” ”strong=”935|������� x-morph=”OSHM:HVhi1cp”
”strong=”3899|���/������� x-morph=”OSHM:HNcbsc/Sp1cp” x-cantillationLevel=”0.1”
”strong=”m/6440|�������/�� x-morph=”OSHM:HR/Ncbpc” x-cantillationLevel=”0.0”
”strong=”2719|������ x-morph=”OSHM:HNcfsc” strong=”d/4057|����������/��
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� 10 ”strong=”5785|����/������
x-morph=”OSHM:HNcmsc/Sp1cp” x-cantillationLevel=”0.1.0” ”strong=”k/8574|��������/���
x-morph=”OSHM:HR/Ncmsa” ”strong=”3648|���������� x-morph=”OSHM:HVNp3cp”
x-cantillationLevel=”0.1” ”strong=”m/6440|�������/�� x-morph=”OSHM:HR/Ncbpc”
x-cantillationLevel=”0.0” ”strong=”2152|����������� x-morph=”OSHM:HNcfpc”
”strong=”7458|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
11 ”strong=”802|�������� x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0.1.0”
”strong=”b/6726|��������/��� x-morph=”OSHM:HR/Np” strong=”6031|�������
b” x-morph=”OSHM:HVpp3cp” x-cantillationLevel=”0.1” ”strong=”1330|���������
x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0.0” strong=”b/5892|������/���
b” x-morph=”OSHM:HR/Ncfpc” ”strong=”3063|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 12 ”strong=”8269|�������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.1.0” ”strong=”b/3027|�/�����/��� x-morph=”OSHM:HR/Ncbsc/Sp3mp”
”strong=”8518|�������� x-morph=”OSHM:HVNp3cp” x-cantillationLevel=”0.1”
”strong=”6440|������� x-morph=”OSHM:HNcbpc” ”strong=”2205|���������
x-morph=”OSHM:HAampa” x-cantillationLevel=”0.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”1921|����������� x-morph=”OSHM:HVNp3cp”
x-cantillationLevel=”0”� 13 ”strong=”970|����������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.1.0” ”strong=”2911|������� x-morph=”OSHM:HNcmsa”
”strong=”5375|��������� x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.1”
”strong=”c/5288|���������/�� x-morph=”OSHM:HC/Ncmpa” x-cantillationLevel=”0.0”
”strong=”b/6086|����/��� x-morph=”OSHM:HRd/Ncmsa” ”strong=”3782|����������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0”� 14 ”strong=”2205|���������
45+ ”strong=”c/369|�/������/���/��� x-morph=”OSHM:HC/Tn/Sp3mp” x-
cantillationLevel=”0.1”
46+ ”strong=”c/587|����������/������� x-morph=”OSHM:HC/Pp1cp” x-
cantillationLevel=”0.0”
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x-morph=”OSHM:HAampa” x-cantillationLevel=”0.1.0” ”strong=”m/8179|��������/��
x-morph=”OSHM:HR/Ncmsa” strong=”7673|��������� a” x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0.1” ”strong=”970|����������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.0” ”strong=”m/5058|�/�����������/�� x-morph=”OSHM:HR/Ncfsc/Sp3mp”
x-cantillationLevel=”0”� 15 strong=”7673|������� a” x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0.1.0” ”strong=”4885|��������� x-morph=”OSHM:HNcmsc”
strong=”3820|���/������ a” x-morph=”OSHM:HNcmsc/Sp1cp” x-cantillationLevel=”0.1”
”strong=”2015|���������� x-morph=”OSHM:HVNp3ms” ”strong=”l/60|������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.0” ”strong=”4234|���/�������
x-morph=”OSHM:HNcmsc/Sp1cp” x-cantillationLevel=”0”� 16 ”strong=”5307|���������
x-morph=”OSHM:HVqp3fs” x-cantillationLevel=”0.1.0” ”strong=”5850|��������
x-morph=”OSHM:HNcfsc” strong=”7218|���/������� a” x-morph=”OSHM:HNcmsc/Sp1cp”
x-cantillationLevel=”0.1” ”strong=”188|����� x-morph=”OSHM:HTj”�����|strong=”4994”
x-morph=”OSHM:HTe” ”strong=”l|���/��� x-morph=”OSHM:HR/Sp1cp”
x-cantillationLevel=”0.0” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”2398|���������
x-morph=”OSHM:HVqp1cp” x-cantillationLevel=”0”� 17 strong=”5921|���
a” x-morph=”OSHM:HR”�����|strong=”2088” x-morph=”OSHM:HPdxms”
x-cantillationLevel=”0.1.1” ”strong=”1961|������ x-morph=”OSHM:HVqp3ms”
”strong=”1739|������ x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.1.0”
strong=”3820|���/������ a” x-morph=”OSHM:HNcmsc/Sp1cp” x-cantillationLevel=”0.1”
strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”428” x-morph=”OSHM:HPdxcp”
x-cantillationLevel=”0.0” ”strong=”2821|��������� x-morph=”OSHM:HVqp3cp”
strong=”5869|���/������� a” x-morph=”OSHM:HNcbdc/Sp1cp” x-cantillationLevel=”0”�
18 strong=”5921|���� a” x-morph=”OSHM:HR” ”strong=”2022|��� x-morph=”OSHM:HNcmsc”���������|strong=”6726”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0” ”strong=”s/8074|��������/���
x-morph=”OSHM:HTr/Vqp3ms” x-cantillationLevel=”0.1” ”strong=”7776|�����������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.0” ”strong=”1980|��������
x-morph=”OSHM:HVpp3cp”��/���|strong=”b” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� � 19 strong=”859|������� a” x-morph=”OSHM:HPp2ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”l/5769|�������/�� x-morph=”OSHM:HR/Ncmsa” ”strong=”3427|��������
x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”0.1” ”strong=”3678|���/�������
x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”0.0” ”strong=”l/1755|����/��
x-morph=”OSHM:HR/Ncmsa” ”strong=”c/1755|�����/�� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”0”� 20 ”strong=”l/4100|����/��� x-morph=”OSHM:HR/Ti”
”strong=”l/5331|�������/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.1.0”
”strong=”7911|���/������������ x-morph=”OSHM:HVqi2ms/Sp1cp”
x-cantillationLevel=”0.1” strong=”5800|���/����������� a” x-morph=”OSHM:HVqi2ms/Sp1cp”
x-cantillationLevel=”0.0” ”strong=”l/753|�������/�� x-morph=”OSHM:HR/Ncmsc”
”strong=”3117|������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0”�
21 ”strong=”7725|���/��������� x-morph=”OSHM:HVhv2ms/Sp1cp” ”strong=”3068|�������
x-morph=”OSHM:HNp” � ”strong=”413|���/������ x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”0.1.0” ”strong=”c/7725|����/� x-morph=”OSHM:HC/Vqi1cp”
x-wType=”x-ketiv” 47 ”strong=”2318|�������� x-morph=”OSHM:HVpv2ms”
47+ ”strong=”c/7725|����������/�������/� x-morph=”OSHM:HC/Vqh1cp” x-
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”strong=”3117|���/������ x-morph=”OSHM:HNcmpc/Sp1cp” x-cantillationLevel=”0.0”
strong=”k/6924|������/��� a” x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0”�
22 strong=”3588|����� b” x-morph=”OSHM:HC” x-cantillationLevel=”0.1.0”
strong=”518|��� b” x-morph=”OSHM:HC”�������|strong=”3988 a” x-
morph=”OSHM:HVqa” strong=”3988|���/���������� a” x-morph=”OSHM:HVqp2ms/Sp1cp”
x-cantillationLevel=”0.1” ”strong=”7107|���������� x-morph=”OSHM:HVqp2ms”
strong=”5921|���/������ a” x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”0.0”
”strong=”5704|��� x-morph=”OSHM:HR”�������|strong=”3966” x-morph=”OSHM:HD”
x-cantillationLevel=”0”�

cantillationLevel=”0.1”


